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o [M2tM B/M, size

« Carlson, Fisher, Giammarino (2004): large is mature & small is young &

growth options
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 Production function: y = f(K, L)
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« Production function : y = f(K, L)
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Cobb-Douglas, CES (constant elasticity of substitution), etc...
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» Production function : y = f(K, L)
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« Production function : y = f(K, L)
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* PDR: Price-to-Dream Ratio

o

rk

o]]]

= OF%] Of2{et X|==0f] 7|t

r

o H|cHz el 0|20| RiCt=L|
Ct.

2
S

£ LIEtHH= X|$£E 74K 2D valuation € SH=E|, SHA 01| A
L,

= = 80| gl A £t

2ot X|=Z HOo{F T VC OiCt EF0[0[M0] X[zz} &L



B. Cl|O|E{2] 23}

)
e

« WRDS, CRSP, Bloomberg

o« J2{CiEL| HIO|E{E 7HX| /A

ASLICE

B AL HIMARLS.

« 12|11 &7, AEEH S Hlole 24 HEHS M= s

od



B. D|O|E{2| HiIdg}

o=
® NN

Irg

. L

. JBICHEL| REE Zto| s

—

o] [fmd

2 EIO|HE B2 == ASLIC 25| H|0|E7 HF EOtM A&
20 Hl0Je =Mst= AMRS0| 8% BsLIC

« Z2H[O|HE AbE

O

ICt SFHEC 2 EEE|= Z20| CHSLICH

o (CHetd stdS0A EIOlE =1 7|2 THA| AlZ ] 0] =/HEX] Z2MLIR..7)



B. Cl|O|E{2] 23}

e Q

0l

. JB{CHEL M2} TIRE H9I7t R 5 EaksHEAL



AT 99% Fets| Of|=5h= Al AR JHE

20164 06& 282! 07:00




=8 & USX|S: Q= AL #2

o L 12| 28XIFE|AM0|A IBM Watson £ O|&st Al S|AI &

o 1 3AQ| AZX|SO| MAlst= FAL HEE

0lo] @ CHEE “QIBXE2 ALt 20| §0171e 2joj7t gict. IilE AAR siash= Al
"2}2 ZEHCL T 7t S&PS00X| 8 O &5H=al| Hol=2|7 1881 HlOlE|§ Ha2
MCI2I0 2. AFE0| i3 old BiRIAIZIZAE. f2l= 2F oF BiLich. LS E8id
Y0l F 7t AL=LIPE BAEE. 02T AAR SgdiX| g0 [E7} $Z0| E0{7HH
Q1B X|S0| Attt X017} glofELCE”

« Sk Q8. ¥ CI0E Ojold...



I = L =1 PN

-
rl‘
dn

o 2020 2& 2l5X|s AT 2.0 UH|O|E HH

252 g0 QU

1. EHN 2.022 5}

o —

] "= 2HF= BAL

no
_|::I_|

=

@7} 0|2 S&P500%|4E ofAlst=r| 4
= ZA|0]| ZHIEY 27171 Lot ¥ek2 O
SHSEIG| 30E%[2) BIO|EE 2t1 M2t A

ECI

52 Ha B oLtz HHIESY E7HSSES AFEsIHZR. 0
|RIZU=LF 2|OF3liZ. QIZte| Alnz FH25HH 0| Ha= A
I

{28t Al= 0|2 77t n e .



2= e| el=2|0[M o[ZA

A4 A
orMH

L|C}

Inflation rate official up to Jul 2008. Estimage for 2008 - Log scale
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